EHRERES—H | #2mn | #s | sa |sams| v | exesszs | [1xE@0snss)
a—F & # X5 |a—F & 7
s Bl 07 [EBREBBEERRISE
BEL 1131 |EIEIBEE =% o |BEmEEs
o wHEsn s = B ol |BIEISEER
ERMEE 66 |XIb-RR—VIERGEDAKEHREFIALPOITLTS 8 o |mmmmEs
5 e 101 |EIEISERE
i3 1 ﬁ\\létﬁﬁn§m$ll{ﬁﬁﬁi l l I wrE | o |mmmses
EXHEZLIE 208 p— a—K 10100 B E . 22 - 9610
FEABOEABEES | B ] EEREBE K & AERX | BRE | 2310
WROHE-NE
- EEEIGETNETD) BRE(ES5H55DH)
§ = HEHICE (5 BREREDHERRFIRRFAZEOFEEOM L. BVICHHL2EOMAE
) BHBIENTES,
CERREE )
BIREEE | TR 18 FE | EEES
RTEE | TR £ | RILES - SBE (A0 R24E02. FETAOKEIRIEEEEEOEETREICHT 250, FEMEESEH
1ﬁ§&0)%¢-‘€.’%§0)%£¥ 2ERDIEEEEELDMREEOHE SHROEHE 4HE "
3 [FRtosILT R [BREAROLTHATESHESLLT, BRESENT BLAHLHEBORRRI,
P [KEERES. - hARES. SAMEES. EHANEES RATMRES, 14 | 5 |STITRERET 0, Mk XS A, AR TSE SO T SL RS
2 |LYREEEIEIG, WitE S, A L HEREHES, AMEREEHS, HEREES. HiER = °
BHIS BrREEHE
EHRE ERER
12 - " ES Bi%iE
2 BEREHE GERERE) ki B H18 H19 H20 Ha1
3 R HE 442 3 £ - EE: 104000 B 12 108500
4 OEER BESHALEH A = 106900| =48 104832 105000 105000
N [ g EE:] 29700| B8 26780
G HESEEERZTHNEIESEEEEM M oy 26620| =48 26922 27086 26500
1 BEETR mE [EegE  [(RMERs g (BR — [BR

FiE  |( ) = E35
2 BE(FE)AE A A Bi% — Big
3 EMEER A = E30
4 RO A Bi% — Big

Ed L
aliki-t ) _

BEORBERDEE EEBEOELS o L e ELETE
BHEANEGREGESR  HETRES|SHESONARENEIO THESHEGRAIEELTHILEM % EE:] 0.34| B 0.35 064 064
2y BEIEHdN. HEE A -OBELT D, (FHREESH 8528) S 0.34| 324 0.63 ) ’

N N ~ o~ EL:] 158| B2 173
ABRAAHK JRERFIAEDFIEMEDO R LZRSIERELTRABRASHET S, A =3 158| =4 168 170 170
Fidli]

FHlIE R | KAk FHAIERISOLTOIAVE
WEHE
BHE 4 |BAMERVEATEALIORESTHLINT. TRAOERRUVFHAEFEEOM LO-OEELEZOHFERICEHTD,
ERE 3 BEESHTRERTES,
FhEME 4 |REICZRFELHER. BEOKREEEMNEBNBICRE B ELBELHIMTELO THIRIZELL,
HBAsh | BROFEME HREITOVTORYHEA
A TURHEFF (BB 20ORBEMHETILLLIEEEROENERARICENL, HAFO-—XITH . SREEERBERENREETS,
g ER18EE RENS ERI19EE RENE ER20EE AENS ER21EE FENES
= EEXERNE BEHN £ 8 FENE HEHEYN £ % BEEXENE BEHEN £ 8B FENE HEHEYN £ %
& Fm Fm Fm Fm
it EiEH 28,433| RitH 28,856 ZEtHt 29,059| FETH 29,000
# = Brte 24561 |12 & 27,720(f@ & 24313|#2H & 24,000
4 [ERHRURES 1,707 |ERs R USRS 1,708|ERBRUR S 1,708|EAB R USRS 1,700
K| = A [Tt 2919(F Dt 2452 N3 RE 2,000| A ERE 2,000
. = IEFRE 1000| TEHEEHE 1,000
i Z0it 1,422| 2 Dtth 1,400
EE
(%) [REEEA T 57,620 [ MR ET(A) 3 60,736 [ KR ET(A) T 59,502 H®A 3 59,100
ERBAAR GEOHE R T OHE R asoo Are) | os| A RRECHER 3,600
NaRE_ A+ (B) 61,220 64,336 63,102 62,700
ERRAHRR OBIENR
(A) ENE 57,620 60,736 59,502 59,100
EEXHS
. B X e
g A K
" BiERE
M z o it 57,620 60,736 59,502 59,100
Eil — MR 0 0 0 0
G 57,620 60,736 59,502 59,100
o BERDB - HBEKREE -
% MABDORSEFRLHEE ZOREFR- - - - BEEIRE AR ZDEFR- - - - BT E IS AR ZORER- - - - BEE IR AR ZDEFR- - - - B EIHE AR




	Sheet1

